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General Instructions :

1. This question paper has 30 questions in all. All questions are compulsory.

2.  There is no overall choice. However, internal choices have been provided in any

3 questions of 1 mark each, 3 questions of 3 marks each 3 questions of 5 marks
each.

3. The question paper has 3 sections : Sections A, B and C.
* Section A has 14 questions in all carrying a total of 20 marks.

* Section B has 10 questions in all that are short answer type and carry 3
marks each.

* Section C has 6 questions in all that are long answer type and carry 5
marks each.
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Section-A (@-37)
1. In how many days ovum in one of the ovaries gets matured ? 1
dewEl W o frdt wh ofewm w1 Uw ofe] fhad A o ufem e S @2

2. How are optical density and refractive index of a medium related to each
other ? 1
Th HEAW % GRENA T 3R ST STUdde gudhih U W 9 g yeRr Hefua @2

OR (31¥ar)

A ray of light, while propagating from medium ‘A’ to medium ‘B’ bends away
from the normal. Which of these two media (A or B), is optically denser ?
ThIYT 1 TH RO memH A’ © memm B’ A W gua oo 4 X ge Sl @)
T meEEl (A’ iR B) H U fed weAm 1 Y v sifus @2

3. The metal which exists in the liquid state at room temperature is : 1
(a) Magnesium (b) Manganese
(c) Mercury (d) Sodium
SH uig k1 W, ST W Sk d99H R R SFEl H UE S e
(a) HAfeEm € (b) Hr= ®
(c) T % (d) wifem 2
OR (3tear)
The melting point of Caesium metal is :
(a) 28.7°C (b) 58.7°C
(¢c) 78.7°C (d) 98.7°C
= urg 1 el —
(a) 28.7°C (b) 58.7°C @
(c) 178.7°C % (d) 98.7°C @
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4. The ability of an eye to continue to see the image of an object for a very short

duration even after the object has disappeared from its view is known as : 1
(a) Persistence of vision (b) Power of accommodation

(c) Myopia (d) Hypermetropia

M@ I Y O HT AW IaEd Gk RO g% R 9% o SHe 3 &F U B
M Wt SEH! Bfa H TH Wgd B Y % Ty S@dl ® Hehdl @l

(a) e @1 et (b) |HS &
(c) TIpechRia (d) IR
5. A material, that can not be used to make a lens is : 1
(a) Water (b) Glass
(c) Transparent plastic (d) Clay
T W g, fSHeT 3uEm of" w9 % faw Wl feen S o"eRdi-
(a) @ (b) == 2
(c) URSEl wifes © (@) fosdt faedt @
6. The speed of sound in air, water and steel are nearly : 1

(a) 330 m/s, 1500 m/s, 5000 m/s, respectively

(b) 3 x 10° km/s, 3 x 10°% km/s, 300 km/s, respectively
(c) 1.5 km/s, 0.33 km/s, 50 km/s, respectively

(d) 1.5 km/s, 1.5 km/s and 1.5 km/s, respectively

tf Wl A o g, Ul SR W W o ()
(a) T 330 m/s, 1500 m/s, 5000 m/s Tl

(b) HE: 3 x 10° km/s, 3 x 10° km/s, 300 km/s 2
(¢c) <FE: 1.5 km/s, 0.33 km/s, 50 km/s €l

(d) = 1.5 km/s, 1.5 km/s and 1.5 km/s 2
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7. The reproduction pattern of internal fertilisation and external development

occurs in : 1
(a) Hen (b) Frog
(c) Elephant (d) Human female

afafter fo=A ok ol fawm goa gfaepfa (i) ™ o feed umn s €2

(a) it (b) Te®
(c) wuefl (d) =it
8. Zygote contains the nuclear part/s of : 1

(a) the father only

(b) the mother only

(c) both the father and the mother

(d) both the mother and the maternal grand mother

TF S o iR Gatd shge 9
(a) whaa faar &1 @@ 2l
(b) HIA HIE@ KT BT R
(c) wal &R faar I 1 @1 T
(d) = R T I KT B R

OR (3tear)
Which of the following is not a viviparous animal ?
(a) Rat (b) Rabbit
(c) Cat (d) Parrot
frafafes & @ &F-w Sq WEs T 7
(a) eI (b) @I
(c) ot (d) dra
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9. Which of the following

(A) Bacteria (B) Plant cell
(C) Liver cell (D) Neuron
has/have a cell wall ? 1
(a) A andB (b) B and C
(¢c) BandD (d) AandD
ffafad 7 5
(A) S (B) dienm ehif¥rent
(C) FFd Hifereht (D) et wiferRt

fora/fera o wiftrerr fafa sidt 27272
(a) A dem B (b) B @ C

(c) Bdwm D (d) ATa D

10. The group of similar cells, which work together to perform a particular function,

is known as : 1
(a) an organ (b) a cell organelle
(c) a plant cell (d) the tissue

TAA FIH o6 3@ TgE HI, S TH G wE fooid R 7, T FHE A E?
(a) e (b) wIfeTeRT 317

(¢c) TUIKY hIfITehT (d) Fd&
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For question number 11 and 12, two statements are given— one labeled Assertion
(A) and the other labeled Reason (R). Select the correct answer to these questions

from the codes (i), (i), (iii) and (iv) as given below :
(i) Both A and R are true and R is the correct explanation of the assertion.

(ii1) Both A and R are true and R is not the correct explanation of the

assertion.
(i11) A is true, but R is false.
(iv) A is false, but R is true.

T TR 11 R 12 H & ke I T ¥ ¥ wwk ‘stfusmer’ (A) dOn g@a ‘&R
R) BN A 79 & S A o fau 78 o vk ® &I ™ @i (1), (i), (i) o (iv)
Y YRl Sfud wie ®1 TAE HN B ST ISl w1 fagga faeww e g-

(i) AR RA di% © 3R R ¥ W sfushrem o1 @&l faawm 2
(i) AR R<eA di% & ofrd R @ 1 sAfqsred o1 @&t faero =& 21

(iii) A 3% % «fed R 7o o

(iv) A ord © ofdd R 3% 2

11. Assertion : Metals are good thermal conductors. 1
Reason : Metals allow electric current to pass through them.
Afashed : uIgd F w1 gAAE Bl T
SO : UqE foRE YA H T U TeRA <t R

12. Assertion : The sex chromosomes are (XY) in males and (XX) in females. 1

Reason : A sperm will always have (22+X) chromosomes.
fusper ¢ fom TR e (XY) # o dfeaet § (XX) @1
FRO : TH YU F THI (22+X) TR B €
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13. The concept of ‘force’ is a quantitative explanation of an interaction that can
cause a change in the state of motion of an object. It is a vector quantity, which
has both a magnitude and a direction. The net force acting upon an object is
equal to the rate at which its momentum changes with time. The required force
is directly proportional to the mass of the object has to have the same value
for all such objects. The force of friction always tends to oppose the relative
motion between two given objects.

(a) Enlist any two non-contact forces.

(b) Write one cause due to which force of friction comes into existence.

(c) What happens to the speed of an object when applied force acts on it in
the direction of its motion ?

(d) Name the form in which the energy required to overcome friction gets
(mainly) converted. 1+1+1+1=4

T 39 IR fRa w1 ufmnnes sren € W fRd awg ) i i feafa ® ufteds
1 HIOT B B TE TH feui wen v, fgen ufmnr o) faen S e €1 femdt eg
W A ol Y& 9 SHeh HAT oh GHA oh WY URedd &1 < o oUel gl B @
S ATl S a&gell o SHE oh UIfas Bl ®, A€ o U He a&gell w1 Uk HHH
R Far g1 T o T G gE a%getl & meA ¥ en el |nfas wfa w1 feriy
F T

(a) fw=l T HUhE aa & gHEas ®ifEl
(b) wHU 9 o S BH HT Tk HRU fAf@u)

(¢c) <& & o fFEt axg +1 7fq &1 fGon & € o S @ A 39 9%y #
o ffE YR 1 qfiedd e @2

(d) =do &t AfYfad & o fau oTewdsd el 9 e oh fhW ®9 W OgRafdd
Bl ®?
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14. Coal is a solid fuel which is mainly composed of carbon, it also contains
hydrogen, sulphur, oxygen and nitrogen. It is a fossil fuel. It is burnt for getting
heat and energy. About two third of the presently mined coal is burnt in power
stations to make electricity. Burning of coal contributes to many environmental
and health issues. China is the largest producer and consumer of coal in the
world. Coal however, is available only in a limited quantity. Hence, we must
use it judiciously. We, must also increase our dependence on alternate sources
of energy.

(a) How is coke obtained ?
(b) Write the S.I. unit of the calorific value of a fuel.

(c) Name any two varieties of coal that have been formed due to different
temperature and pressure conditions under the surface of the earth.

(d) Which gas produced by combustion of coal—
(i) results in formation of carboxy haemoglobin.

(ii) causes the green house effect. 1+1+1+1=4

Tl Teh 3 $oF € S & ®Y W whiad ¥ o4 e 81 A eEgier, et tfadieH
AR AR ol B g1 U8 UH SenyH oA 21 36 o R e WK % o fag
A Sl B1 IGHE B W @ W W R gen o § faer wigen for@ oh
T fasiell 99" & U S Sar 21 hihel 1 <89 e YA 3R Toreed qHEsh
I S Al B WA RN W el 1 WO WSl Scikeh SR SUWl @1 olfehd shigen
Wifga aen o & Sudsd 1 ofd: B THhT SUAN fadshyul €1 9 % wfeu) eH S
o depfeds Sidl W AT fsRkar i wgmr o =nfeu

(a) ik hd9 Y R ST TRl =2
(b) ‘Swig ¥F' 1 wE.SE. (S.I.) THE fafed)

(¢) Yoot &t Hae o = fafe= qome iR gere 1 feufd & &R0 a1 o Sigd
F wE ° YRR o 99 faf@m)

(d) *EFe & Tgd ¥ SO gE HHAE -
(i) HEiFdRArAead o fHor 1 RO §qd 72
(i) demE (Wes®) 99E 1 ®RU Bl €2
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15. (a)

(b)

(a)

(b)

16. (a)

(b)

(c)

(a)

(b)

(c)

Section-B (@E-9)

Write any two factors on which the air pressure depends.

How are we able to drink a liquid with the help of a straw ? Explain

briefly. 1+2

W HE Wt § wre fatgy 9 W oaggE feR w2

TH US W oh WA 4 Ol U9 H ohd GYH 8 S 82 HEY § aarsd|

Arrange the forces due to rolling, static and sliding friction in a decreasing

order.

“It is easier to drag a mat on the floor when nobody is sitting on it but

very much more difficult to drag it when a person is sitting on it.” Why?

Objects moving through a fluid should be given a streamlined shape.

Why? 3

Td e W defe wdu, wWifie sdu ok gdf s 1 shmegy wifsd|

“oyl W UH TR Sl WiE q9 GG Bl © S 3§ W WhiE W8l 7 8 iR
I I Afd 39 W dS1 B A Y GLR I G STAE Hfed & shar 2l
17

‘T R T gl W e el owgell i uRiEl 'Y (WS SHR) 6
g1 =nfew)’’ eRA?
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17. State the nature of the image formed on the retina of the human eye. Write
any two points of difference between the rods and the cones present on the

retina. 3
o W o1 arelt Bfa w1 gopfa oaEdl em W UE W ol 98 SR e shifvene
H %k q AW FaEdl

OR (31ar)

Our eyes are a great asset to all of us. Various precautions have been suggested
by doctors to ensure the health and proper functioning of the human eyes.

Write any three precautions that help to maintain the proper functioning of

eyes.

B9 |l o oy eurt e U ogd W€l Wua ®1 Sfeed g Adl oh e SR S
sfaa forarors feafa #1 gfiRea &6 & fau w2 gefel geg © 8t w8 9=
el Saed S AEl i HEYUIell bl Sfud ST W W EWEEe Bl B

18. How do human produce their sounds ? Describe in brief. 3

T Ol waftEl hd Scq Hid ®? dietd e wifsd

19. What happens when :
(a) a non-metal reacts with oxygen ?
(b) a metal reacts with a dilute acid ?

(¢) carbon dioxide reacts with water ? 3

T E e

(a) UHh orurg oS o @ eifdfran el €72
(b) TF ¥ T A o WY Afafmm w F?
(c) <hieA TEefaEs I o Wy eifaferar R @2
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20. Complete the given table : 1ox6=3

Petroleum/Carbon product Use
(a) (i)  Grease
(b) (i1) Roofing material
(c) Kerosene (iii)
(d) (iv) Water gas
(e) Petrol (v)
) (vi) for coating the under
side of an electric pole

=1 aifetet &1 QU HifeE—

TSfeTam/hTeA 3R ST

(a) G)

(b) (i) B W IWEM H N
STl |

(c) faedt =1 (iii)

(d) (iv) <& 79

(e) WA (V)

() (vi) faseht o @i & H= oo
FH & fau
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21. (a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Define Ignition temperature.

Give reason :

(i) A heap of green leaves burns with difficulty.

(i) Flame of a burning candle goes off when we blow over it strongly. 1+2

S (3fEeE) aEE i gRefia SIS

HROT AT —
() & U 1 @ FHfsAd 9 FoAdl o

(i) fodt Sodt g8 dest &1 o 99 %k o W g S @
OR ( 31ear)
In which zones of the candle flame have—

(i) carbon particles and

(i1) unburnt wax vapours ?

Write in brief an activity in support of the statement :

>

“The outermost zone of the flame is its hottest zone.
B 1t i o e o S o e

(i) ®EA F HU 4

(i) H@ F 97 & foa A FU U AW 22

2+1=3

‘Al Rl @5 ged TH 9F B 21 TH e oh §HYH U Uwh wiatery He

T fafaa
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22. A, B, C and D are all basic parts of the living cells. The part A contains a
thread-like structure, called D. The part B is the portion of the protoplasm
lying inner to the cell membrane but outside its nuclear membrane. The part

C is responsible for generating energy for the different activities of the cell.

Identify A, B, C and D. Also, write one function of the part B. 3
A, B @R C Sifgq wiftewtet o go 9w g &1 9 A H o S S T S
g 92 D #ed &1 9 ‘B’ Werwvd ®1 9% AW ® S i faeeht o ik wfeA
heeh ool oh @ed 9l Sl 1 A C whifyremed w1 fafw= wfafafial & fag i

ST T o folt SwREEl g @1 W A, B, C 3R D & wg=itEl 9 B e gw fwd

M O kT Uh s o fafad

OR (3t9ar)

(a) Write two points of difference between the onion peel cells and the human

cheek cells.

(b) Name the stains used for making a temporary mount of—

(1) cheek cell and

(i1) the onion peel cell

(a) @S &1 foect 1 ST qo1 ATA &I HU@ DINER] H hlE A TR Fasd|

(b) (i) AT Kt HUA HIFTHRT qeql
(il) =mst +1 foeel HIET & SRR U a9F | 39 fohd 9 arel SAFaRsTehl

o A SdEy|
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23. Describe the role of microorganisms in any three of the following :
(a) agriculture
(b) cleaning the environment
(c) energy production
(d) food industry 3
frefatad & @ R G AE § meni ® af w1 oo F

(a)

(b) TATEROT TE=3dl
(¢c) il IcreH
(d) @™ 3=

24. Give reasons :
(a) The longer one leaves curd at room temperature, the more sour it tastes.
(b) Microorganism are harmful to other organisms living in water bodies.

(c) Viruses are unique. 3
HROT FAZA—
(a) <@ <& H 31 WEA oF fIU W o d9HE W W@ S © dl SUH WiE Ay

T ' S

(b) Temsld W@l o WA a9 o9 Sial & fau wfeRE B €

(c) =™ @fgda €
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Section-C (@s-9)

25. (a) Define Dispersion.

(b) Write any two points of difference between a convex lens and a concave

lens.

(c) Complete the given ray diagrams :

(1) > /

e

(i) © ]; L 3 1'? * 1+2+2

(a) YT o fagmo =i gRefa sifsa
(b) 3Ida IR AGdd o F H HIE & I T
(c) T faw sm@ =t qu ®iE—

.

(1) /
° 10? 0 ]; °
[ ® 7 e =
0o
i
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Alternative question for visually challenged students in lieu of Q. 25(c)

(c)

Name two different types of (i) converging lenses (ii) diverging lenses.

gheariua Bl & fT o9 25 (¢) o WM W dehfcdeh W9

(c)

26. (a)

(b)
(c)

(a)

(b)

(c)

(a)

(b)

T fafa= JFR & (1) 39 SR (i) &qd od % AW SaRu

Name the electrodes at which oxygen and hydrogen bubbles get formed
during electrolysis of water.

Name the type of energy transformation taking place in a voltaic cell.

A piece of impure copper metal is given to you. Describe briefly how will

you purify it by using the chemical effect of current. 243

S SRS o AW FdEy 5 W I w5 seleeifaftd & gua sifedisH i eEgieH
19 o gaqd o4 2

difcedh A H Hl gRedd w1 YRR SdrEdl
AT HFS I GG HT Tk IhSl (&A1 SAT g1 e ¥ Fany R ooy 39 faga
o THEMH G h1 SUEN wlh YH bl Sl
OR (et¥an)
Fill in the blanks given below with appropriate words :

To (1) an article with nickel, requires an (ii)

which must be a solution containing nickel ions. The article to be

electroplated is taken as the (iii) of the (iv)

in which the plating is carried out.

State any three experimental observations made by Faraday and Henry

during their discovery of the phenomenon of electromagnetic induction.
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(@) 9 fu ™ fom e w StE ve ¥ O #fwe

frat o g foedt asg &l (i) FE o faw & (ii)
F AETIRA Bdl § S fF U THehel P Aol Hid Bl ©| SeeRimie &l S
it awg i (iii) % w9 H 39 (iv) T fomn

S, Y soeRwifen w1 S @R

(b) faga ™ WO HT YR &1 @il & T B2 SR B gW <@ T T

T g STkl i fafau)

27. The oxide of an element A is basic in nature and the oxide of another element
B is acidic in nature. Identify A and B and write their names. Also state any

four points of difference between their physical properties. 5

Tyl A 1 SRS G Uohfd 1 © Seh Ywiel B w1 SiidES STl Yepld 1 R
A 3R B & WM #X 39k AW fafew s wdifgew o o a1 =R feand ot saed

OR (et¥arn)
(a) Give one use of each of the following :
(i) Copper
(i) Iodine
(iii) Alnico
(b) Write the balanced chemical equations for the chemical reaction between:

(i) Zinc and sulphuric acid

(i1)) Magnesium and copper sulphate
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(a) Trafafad & ¥ g% &1 =iz & syam fafeu
(i) dren
(i) STEH
(iii) sifeTent
(b) fTrAfafea gfaferarsti o fau 391 Ggfera T g fafaa—
(i) &% iR Terfe st & o9 +1 wlafewan
(i) FfEE SR a9 & Hohe & o= w1 gfdferan

28. (a) What type of combustion is represented by—
(i) Burning of white phosphorus at room temperature
(i1) Ignition of a cracker
(iii) Burning of wood
(iv) Burning of cowdung cakes
(b) State any three advantages of gaseous fuels over solid and liquid fuels. 5

(a) Toefafea feafdsti § g ol <89 {9 THR & &—

(1) W & AIAE W HHe HEHRY hT STl

(ii) 9@ T Sl

(iii) <TRE! T Sl
(iv) 39cll @1 S
(b) T ol o S qen WA LUl HI ga H B dH ISad sSaargd

29. State any five similar changes that take place in both boys and girls during
puberty. 5

dleq it 1 iy oF A wigehl IR wgfhdl | BN ol ufeddl W 9§ g U@ i
TRed fafge s A § T @A W g

OR (31¥ar)
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(a)

(b)

(a)

(b)

30. (a)

(b)

Why are endocrine glands called ductless glands ? Name any four endocrine

glands.

Give one similarity and one dissimilarity in the secondary sexual characters

developed in boys and girls during puberty.

sia-omet ufer i aifefE (SHad) w el Sl 27 TRl 9n ofdssrel ufE
= M fafau)

o Tafy o W B AT A9 oifieh e § uw-uw w sifuaes aded
S dgw iR asfwal #-

(i) T GHM (i) f=1 & 2

Write one function each of the following :

(i) Oviduct (ii) Uterus (iii) Testes

Label the parts (i), (i), (iii) and (iv) in the given diagram :

SO
fo ™ "\,I 5

N, N "
i | \ _ e £ (i)
\ 4 ' (i)
( / (3+2)
| S
)r., ,F‘" J}* '
\¢ + (iv)
| S ¢
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Alternative question for visually challenged students in lieu of Q. 30 (b)

(b) How is an Embryo different from a foetus ?
(a) fmafafas 4 9@ &% &1 -t & fafae—

(i) femafe (ii) e (iii) oo
(b) Ru T @ ¥ (i), (i), (i) W (iv) H sifHd HiE-

\'-{"'-\_\ W , v .
\ L——"!\X‘"\T'. ’('.":JJ |l (f ..I'...
= a ;\—* 3 =" "4 (i)
\ (i)
!‘ J";
)r., J‘ -.ﬂ}r
IR (iv)

gieafia o=l & fau w7 @@ 30(b) o T W dekfeueh W9
(b) yo My fory W R yeR fa= @ @2

000
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